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Pure 20 — Section 2

1. (a)e* g (b) In |x| 4 (c) sinx v (d) tan x (e) —cosec x v

2. (a) 5x~3lnx b2 +% (¢)3x +1Inx,

4

( )f;lzzx dx = [secxtanx.dx = secx

cosx _
©) [ —.dx = fcosec?c_cotx.dx = —euseE

3. (a) [(x—2)".dx = -(x ~ gy
0 f@x+5Pde=@x+5r=1 (Zx pyt
(c) f(4'x - 1)2- dx = _—(4x — 1)2 = —(4x — 1)2 v

2 P

(d) f(%—2)5.dx— (-—2)6— (__2)6 v

-x53-20)7 = (3 2x)" 1V

(e) [53 - Zx)‘z.dx = —

1, 2 ' /
4. (a) Efz—x_—ldx=zln|2x—1|

25 B _2 v
(b) §f3x+5.dx—31n|3x+5|
3, -7 3, |
(c) —;f2_7x.dx=—;ln|2—7x|

5. (a) %é.in(Sx —2) + 2e%+3
(b) —%es‘zx + -;-tan 3x

© (E*+1)*=e"+1+ 2e2" ‘ ‘
Hence ——cos(Zx 4 8) b2 1n|5x - 1| += e‘“‘ +x + ez" U

6. (2)0.75 v~
(b) 0.75 X (4.252 — 4 X 4.25 + 5) = 455 (2 d.p.) *

(c) the limit of the sum of the areas of rectangles as the width tends to zero..so the exact
area under the curve

(@ [ x? — 4x +5.dx = [& — 2x? +5x]f = 12 ¥
TOTAL 52 MARKS



